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B.A/B.Com./B.Sc./.BBM/BBA/BHM DEGREE EXAMINATION,
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First Year
ENGLISH (Paper — 1)

Time : 3 Hours Maximum Marks : 70
Section-A
Analysis Skills
Q1) a) Read the following passage and answer the questions that follow. [5 x1=5]

b)

It is the mad usage for speed that is responsible for many motor accidents. Only last
year I witnessed what might have been a fatal accident on the Kashmir road. I was
motoring down from Srinagar and came upon the wreckage of two cars on the road.
The smash had been caused by a car coming down, which swept round a sharp corner at
forty miles an hour and crashed into a car coming up. Thankfully no one was killed but
several were badly injured.

1)  Why do many accidents occur?

i)  Where did the writer witness the accident?

iii)  What caused the accident?

iv)  What was the effect of the accident?

v)  Give the antonym for, ‘sharp’?

Read the following passage and answer by choosing the right answer. [5 x1=5]
Of course, I am honest and a hard worker. In the very second week, I had made more
sales than the previous salesman had made during any week. Maybe because it was the
week before diwali when more saris are bought. Or it could have been due to my
salesmanship. Anyway I had good reason to be satisfied with the way things were
going. That was how it was until this morning. I was beginning to have rosy dreams of
getting married and settling down in mumbai, which is a good place for a refugee from

punjab.
1) Whois ‘I’?
i)  Customer il)  Salesman
iii) Boss iv)  Previous salesman
2) The speaker made more sales than
i)  The boss i)  The boss’s wife
iii) The previous salesman iv)  Customer
3) The salesman made more sales because
1) Ofdiwali i1)  The salesmanship of the salesman
iil) The variety available iv)  Diwali season and salesmanship
4) The salesman was with his job.
i)  happy ii)  Unhappy
ii1) Satisfied iv) Proud
5) The speaker belongs to
i)  Mumbai ii)  Delhi

iii) Punjab iv)  None of the above



02)

a)

b)

d)

g)

Correct the following sentences: [5 x 1=35]

1) Why you are not writing?

2) Either you or your sister are to attend the meeting.
3) The gold is very expensive

4) Where is the scissors?

5) One should put his belongings in the room.

Rewrite as directed. [5 x 1=35]
1) Suraj rang the bell.(change the voice)

2) He went for the party (Add a question tag)

3) She said, where do you stay? (change into indirect speech)

4) He is honest though poor. (change into a compound sentence)

5) Veeru is the strongest man in the village.(change to positive degree)

Change into direct speech: [5 x1=5]
1) Seema said that she was going for a movie

2) Rajtold me to pass the book.

Fill in the blanks with correct forms of verbs given in the [5 x 1=75]
1) He  (drink) soup every day.

2) They  (buy) a basket of mangoes.

3) Whenhe  (run), he fall down.

4) 1 (listen) carefully to what he said.

5) Thebaby  (cry) since morning.

Fill in the blanks with suitable words given in the end. [5 x 1=35]
1) He  everyone with his performance

2) Rocky  the murder of his sister

3) God  oureveryneed

4) Reena  me acup of tea.

5) He  everyday

(avenged, exercises, brought, mesmerized, S)
Rewrite the following set of jumbled sentences to make a wherent passage. [3]
1) She lived in Mumbai.
2) Her children helped her in the business.
3) She shared the profits with them.
4) Mrs. Raj was an elderly lady.
5) There she ran a cloth business.

Write three exchanges of dialogue between a customer who comes to a lodge to stay for
three days and the receptionist there. [3]



h) Write a paragraph using the following hints. [3]
Poor villager — educated son — son gets a good job — neglects father — gets involved
in corruption — loses job — comes home —father consoles — son repents.

1) Write in about 100 words on any one of the following. [3]
1) Social media-curse or born?

2) Fast food and lifestyle diseases
3) Climate change and its impact

Section-B
Descriptive Skills

03) Write an essay on One of the following. [5 x 1=35]

a) Bring out the humour in R.K. Narayan’s ‘A snake in the grass’.
b) How does ‘Letter to India’ reveal a father’s love for his daughter.
c) Justify the title, ‘Blood, Tail, Tears and sweat.

d) Bring out the humour in, ‘A marriage proposal’.

04) Write short notes on any three of the following. [3x3=9]
a) What are the reasons the poet gives to laugh and be merry?
b) What inspects of science does the poet bring out in ‘sonnet-to science’?
c) What is the central theme of piano and drums?
d) Summarize the poem, ‘The express’.
e) Justify the title, “The tables turned’.

05) Write an essay on One of the following [1 x 4=4]
a) What doe Tolstoy’s story reveal about the character of God?

b) Bring out the appropriateness of the title, “The gold watch’.
c) Narrate the hardships faced by the old refugee.

06) a) Explain any two of the following [1 x 4=4]

1) “Do you charge five shillings for everything”?
2) “I hope your law is better than your rowing.”
3) “Deepak was about any fifth name”.

b) Explain any one of the following [1 x 4=4]

1) Small is the worth of beauty from the light retired.
2) God made heaven and earth for joy.

4+
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01) 58 80D DS 28 HER;OB HB HwoY TIGOHD FOTHD [6]

a) DHOB HBRRH BR0E3B HodeE cuTe B
DOH0¢5 DOFPORDC VEHOBNC BTG BERE O
DO DDTOLD BOLSHHD B0 é{sgiotﬁoo 20

& (&

B HOR0GBNBEY BHOL §39)¢5,085 EES Swoad!

b) 555008 e3BS BB HoTHD ERB SO 230 g
DL HIEBB BHHBO BPOOB DB HEO
%”(xp)cioe)m DBOLO DEEIBD FDEIPB,Q @*S@mo@@cs

DoRoaoess] aQer BERS B8O e BOBOTNS

02) 58808 708 ‘@ 20550 S00& Bodoe3d, ‘e’ gretso Hrodk Bo&oe3d RDOLSS 08I0 50,350

[SiJeveetbol [4 x 2=8]
& - gIadio

a) R S8 HHGoe BBIESED.

b) g 08 K ue3S 503

C) Beo DEBO0OC (oY ?

d) DB OF BOSHOL DSSD,
& - 83’0

a) 598 S%0e Hewsd SSI0H

b)  DeH8S0 soghe HoPEe SO

C) S05,0080 DogBOB, B BOOTD

d)  ares 00 Hr8er0emad ?

03) &8 8o® 500 ‘@’ gPtio 008 28 DB, ‘@’ 8RO KOG 28 DS FoOEID DBTDB
T2OBW. [2 x 6 =12]



& - gIadio

a) FH0BO DB HOOSHW

b) BPSoDsBO BYTe DBODED DB
& - 8Jed50

a) B TPDHO B DBODD BD.

b) e B HIJpen BQod.

04) 58808 a0 ‘@ 23550 S0 28 wodB ‘@8’ 3750 HI0B 28 RS BTGB HD

T200BW. [2 x 6 =12]
& - gIadio

a) CTB BDBS Hewdrd @OToeD

b) CROHVELL FoBODS S0 By DEZO?
& - 8330

a) 0o8BE 5B EHODD HEHED?

b) @0ES HoEd FHo58

05) 83 808 320 Bo&k0e38 HHBIPEPHHW T2 OTOHD. [2 x 6 =12]
a) ROOT PG Ded
b) esosceD
C) DD OFEFO0 BOY S0epBEH H550 BHOL HHBH;000WOR.
d) seeRds &80 HBHO Do MGBBR HHOOLYHD.

06) 53 808 0P DOOE3RD DB DO S0V TP OTHD. [5 x2=10]
a) oI b) 3,85
C) SBJEHE5000 d) o000s0080
€) BB f) Doy
g) ©oBos h) egsse0
1) &8558 J) 33

07) 83 808 0P DOORD HHET? BBV TR DBIDBNOD DHOoDHD.  [5 x 2 =10]

a) S%JpHe3s50 b) g esen
C) DESSH0e0e0 d) a5

€) 0BV f) 058505850
g) BIEHH0E h) oeosss, 28

1) pseds O J)  BoegH0en
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Answer the following

0l) a Explam in brief the Glory of the Kavya of Valmiki? 3x8=24)
ATcHIoh : HISTITHT HHYU forerd ?

OR / 3Ydl
b) Explain the Qualities of scholors as described by Noble Vidura?

fagia ST GsqeE fe 7

Q2) a) Describe the words of the companion of Parvathi to the celibate?
: gl Jfew ufa forgara o ?
OR / 3T

b) Explain the help rendeved by Rajavahana to the Brahmin?
{I\YICIISH?GI |gw||ch><1| |°|-‘<’|C\e4(1 7

03) a) Describe the six reasons as persoriabed in the lesson?
C
qTGIITTHIY T g U ?

OR / 31gd1

b) Write the story of “MrltOJJeevanam’ ?
Jj‘(1|\1'\7||0|"| ATHYEA(H It'i’eld ?

04) Answer any four (4) of the following with reference to context. (4%x3=12)
T THeY ST |
a) 3fcar: Segamen Tevd sama: |
b) SIS FgHT: |
¢) ffeearfs 7 dad|
d) Tl amudaged)
e) T HfrsAfd TR & adl
f) SIEETEIdl gE@HIAr |
g) AT g =

h) ek GoieRUCeh! TR |




05)

006)

Translate any two into English or Telugu :

3 AV I STFAATTIT a1 SFaed|

a) ATCHA FHREIA T eefear|
Trat ekt | & fved 3=Ad ||

b) dcasl: AT ANTH: FeehHUTY|
IR FSOM R 9fved I=Ad||

c) i pea i fi of feafea =)
HH TRYA g8 dHTgHEaEH | |

d) g foqea 7 qarfd qadr F=m=id|

GE(HE 4 AWd dHTEHE e |

a) Write the forms of any three in the other numbers of the given persons.

FATTT ARy HTqedTior forad |
1) 3¥ad
2) TSt
3) Hied
4) faeq
5) SFeId
6) WIS
7) faafa
8) qeEfd

b) Decline any four as per the case ending.
Uit qafgafey vegEaTion forad |
1) oaME
2) ol
3) WA
4) fo
5) Tl
6) THME:
7)  TEM
8) dw=

2x3=6)

3x2=6)

4x2=8)



c)

d)

Combine any four sandhi’s.

FedT e |
) 'R+ gt
2) d9+ 39
3) qUT + To
4) 3fa + 3d
5) dt + 3/
6) ad+ 9
7) Yg + A
8) dd + AU

Dissolve any three :

T fergaTernta fored|
1) w9
2) YIHM:
3) qEl:
4) ®Amata:
5) 3tuH:
6) arcaem
7) EAYETE:
8) YUHIGL

4x2=8)

(3x2=6)
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SECTION — A
01) Tl dF i gy Tfea =ame Hifs) (3 x3=9)

02)

03)

04)

05)

a) % STAl ¥ ST 3T 3ok G&AUTIRT <l el T T 1 T91d &1 T &

b) Terar =t <m forar wed 81 58 foreft y=g foar 3 wehe o 2, 3@ 9= Y fSeft @
el 2|

c) ‘39 ThEeh Bl 37 UgHH Ta JehIereh &1 a A0 S| gIeigrh <hl qfedi, 3T oy
% THN RaeT X 98 W ¥ H @ fT@H1 =18dl 8, 39 i & AT UEehR 8
ST Fra9™|”

d) T3 F¥IAT % 39 Fehifdeplal H WA 99 3191 Fgad @1 ¢, 98 3f=d 1 8rm|

e) S FSh S JE A8 T &l IodT & o 81| 39 e ! o} 7fer B

SECTION — B
foreht weh w1 1w ferivarstt wfga forfay (10)
a) YRAT ATfged 6t Tandn|
b) hfa 3R i
foreft T e 1w femwanedt wfed fofw (10)
a) ¥1 9 T | T
b) sfafa
foreft woh parlt 1 wR feriwane wfea fafaw) (10)
a) 3G el oA
b) TSI
a) 3Tk T 1 T Uo & fo v fafey| (10)
(31erET)

b) & weamges TRt & fofe, gamTETYs % A W U 31ded U fefau



006)

07)

08)

o=l 31 STl b1 el gw Al § ffa
a) TYfetehl w1 A -Tamor Fhifsu)

b) ‘3THRL T FAT HEH! I ¥k hi ATHAT T THE ST

c) ‘=t = grad’ HEHT HT FAT I &7
d) ‘gradt’ o1 afie e hifsm)

e T 1 IR fora Afar 2|

a) IRt AT gl W Bl (T’ sgeem fafu))

b) 3T hTeiSt <l el B (‘o= sewet fafEu))
c) #H f&=dt diw| (area weereht fetfu))

d) HIE T et &1 (Wit et ¥ forfeu))

e) drar uis fer@dt 81 (qreepiferes aduehtal § fefaw))
f) TreRt 7 aror feam| (e w1 A fafaw))

g) Tifde 1S @9 § s =nfgu) (g Hife))

h) TH ¥ =1 781 11| (I dedet ffa))

i) ®ar % ufd &1 9™ T | (FHEH w1 AW fAfau))
j) Postman (39 e =1 1Y o<t # fefau))

Tor=gl 1 wreet o1 319 Tt # ot gl § wam <hifSw)
a) IAW

b) ARG

c) Wrdshl

d) %@

e) pwEd

2x3=6)

(10 x 1 =10)

(2%2%=5)
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Section - 4
Answer any two of the following

(2 x13=26)
Q1) Describe evolution of caste system in vedic culture.
B DO YBS® B HBR HDOEFHO0 (OO TPOFNHBL.

02) Describe the administrative system of Sharsha.
iqogq DHORPOT DFPHHNED DBOOTIIEWD.

03) Explain status of women in Mughal rule.
Bo0t5eIPAX0 500 $037eE HVTID HHOOTIND.

04) Describe legacy of British rule.
2635) HOTPOD CANE, BiFRIBO HBOOTHD.

05) Write a note on Non violence and Satyagraha.
€3320 S0OATD DFW ISV (5308 32 OTNDDW.

06) Explain cultural condition under Satavahana.
BBV SOV VPO, BE HOPBOIOTO HHOOTIVHW.

Section — B
Write short notes on_any three of the following questions 3 x4=12)

Q7) Sufism
Doedresdo

08) Buddhism
a?cgéoém



09) Satyagraha

OB, (55308500

Q10) Raja Ram Mohan Roy.
Ooe3 0odD BTSITVD 020N

Q11) Sati system
OB 559

Q12) Social reforms
RPOPOE DO,

Q13) Ishwar Chandra Vidyasagar
88,5 <50 HWRRSE

Q14) Bhakti movement
&78 €555
Section — C
Q15) Fill in the blanks:
a) is the holy book of Hindus.

33°0E305)O DA FOLSDD.

b) religion was led by Mahavira Swamy

B0BHN BT Do Q0 Tz T DB BIOTIDBD.

c) Arthasastra was written by

BB TPV 330
Q@ = —

d) Child marriage was eradicated by

2300 aeaIe00 DBIR,D 0D

Q16) Choose the correct answer:

a) The kingdom that arose in Warangal

i) Pandya
iii) Chera

BB S8 BSHH 08340 DO7?

1) o
i) 9o

i1) Kakatiya
iv) Chola

ii) sesBow
iv) SPer

(3 x4 =12



b) Ashoka fought the war of
i) Magadh ii) Kalinga
iii) Mahabharat iv) None
©-8350¢8 & 0GB T ?
1) 00 i) ssos
1il) S08eIeses V) OosesH
c) Indus valley civilization is related to
i) Harappan i)  Warangal
iii) Kalinga iv)  Vijayanagar
Q00580 TotOES BB DOODODID?
) 68 i) Ssosses
i) s8OS V)  DesoHSES0
d) Akbar minister was
i) Todarmal il)  Birbal
iii) Tenali Ramakrishna iv) Kabir
55 BRIBD DO ?
1) &GE5HS ) 55
1ii) B®e® 0es0E)R iv) 550
Q17) Match the following
a) Satyagraha 1) Vijayanagar
b) Krishna Deva Roy il) Mughal
c) Razia Sultana iii) Sultan
d) Jahangir iv) Gandhiji
v) Delhi
a) DT $ETBD 1) DBADHSESBO
b) gHdsce0D 1) Bootsereasoen
C) &0 Koenme 111) Koerssoen
d) 2520885 V) ceoded

v) &8

4+
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B.Com.DEGREE EXAMINATION, MAY- 2018
First Year

BUSINESS ECONOMICS
Time :3 Hours Maximum Marks :70

SECTION - A
Answer any four of the followingquestions. (4 x3=12)

Q1) Normative Economics.
JP0Ea2DES OBTIO.

02) Consumer Equilibrium.
DDOWBIBTBRD DEOBV,0

03) Law of Demand.
&350008 F0eEH0

04) Perfectly Inelastic Demand.
DOLPY @53,85¢S &5i7e06

05) Production Function.
S8 DY.

06) Break Even Point.
DBOPOGD (BB BIDS) DOID.

07) Balance of Trade.
BBE THP0.

08) Kinked Demand Curve.
808 &5708& 3.

SECTION -B
Answer any two of the following. 2x8=16)

09) Explain the nature and significance of Business Economics?
T ES WSBIHO A0, DgI0B0 SOOI FBEBDO (OO DHOO)EB.

Q10)“All direct costs are variable and all indirect costs are fixed”. Comment.
‘g DB E H;0ee0 WG HoMeen HHVOT ©Y HOE H;oTeen JS Hiaeen”.
S0830065.



Q11) What is monopoly? Explain the equilibrium of the firm under monopoly?
DB 5050 9570 B ? DB BN HEDBR0 (OO0 HBOOL)N?

Q12) State different methods of measuring national income. Examine the difficulties
involved in them?
2PEOIPEIOTRY B0tH PG DEBWT BOODDHW. OO T3S &I

ROIVSHONIING HOEDOSOb.

SECTION —-C
Answer any three of the following questions. (3 X 14 =42)

Q13) What are business cycles? What are the problems arising out of business cycles?
0,8 TS0 WBTPBE ? 70,8 THPOEE DEDGE?R3 DIV D3 ?

Q14) State the law of diminishing marginal utility? What are the exceptions to it?
£65%30008 58S HITR) BBV ? T QVDIBONOYED BEVYHD ?

Q15) Explain the shape of a cost curve of a firm in the short-run and in the long-run.
09500068 OO HES006° ;00385 B8ZBD HOOD HBOOYEN?

016) Explain price and output determination in perfect competition?
DHOHPY P (55 OO GBH DZONOTEO (HOOD HHOOLYE0?

Q17)Describe the role of WTO in promoting International Trade?
©OBRB0D w3800 RS? WTO 2pE:50. HBO0DED.

Q18) Explain modern theory of rent?
B0 O TBOBO (OO HHOODHD ?

+4 4+
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B.Com. DEGREE EXAMINATION, MAY -2018
First Year
FINANCIAL ACCOUNTING -1
Time : 3 Hours Maximum Marks :70
SECTION - A

Answer any four of the following questions. (4 X3 =12)

Q1) Explain branches of Accounting.
(isaém@ TP DDOOTIDOD.

02) Discuss various types of subsidiary books.
DD CSsa?é 0I8OHE DVSOD 138 TIQODHW.

03) What are the parties involved in the bill of exchange?
DS BPOE 65 PG DB ?

04) Discuss the methods of preparing a trail balance.
®OBEFHD SATPEITIOT0 DGHIVD (5708 WHORHL.

035) Explain clerical errors.
&8T5 B8, HHBOOTIIHN.

06) What do you mean by final accounts? State the objectives of preparation of
final accounts?

BB BBe0 5P BEO? BB BB BOTRS ST DBOOLYHL.

07) Explain normal loss and abnormal loss with examples.
BSOS DS HHO BOOOTD DGISE HFO (5728 HBOOV.

08) Causes for depreciation.
B0 0 So5e300.



SECTION - B
Answer any two of the following questions. (2 x 8 =16)

09) Define term ‘Accounting’? State objectives and advantages of accounting?
3206305 DHBHVD0 DYFDODBN? ©SP0e3085 CAE, GFomen  EHOODO

é&ﬁ&m@o SenHad.

Q10) Write journal entries for the following transaction occurred during May

2016
May

2
2
2
2
2
2

2

1

5

12
15
18
22
25
30

Swetha commenced business with cash Rs.3,00,000

Paid into bank Rs.70,000

Purchased machinery from Shekhar Rs.30,000

Withdrew cash from bank for personal use Rs.1,500

Purchased goods from Raja for Rs.2,000 and paid by cheque
Credit sales to Rajesh Rs.20,000

Interest paid Rs.2,000

Paid cash to Ranga Rs.1,900 and discount received from him
Rs.100

30 20166° BOADS 808 HBTBoRH0 DEPDESIL0 TPOTZD.

5%

1

5

12

15

18

22

25

30

B £30.3,00,0000 H5E5088 TR0 HBOLDODDD.

232,0806 BHOTWRDE B30.70,000

36 5008 §°5 0o BBV &3.30,000

BB 9BHD0 DOBO 233,080 H0& HDS B3 632.1,500
Toe3 {008 5°8) DBIED 83°.2,00008) WEI, 32500 WDHOTSLIOHD.
00E5) H00& BBLHE §8 DBIB 832.20,000

5 BP0y B3.2,000

BORE VYO D53 K39.1,900 00K HYS Ede,085 830.100

Q11)Prepare three column cash book in the books of Mr. Pavan

2017
Sept.

2

2
2

2

2

2

1

5
8

11

15
22

26

Cash in hand Rs.21,400

Bank overdraft balance Rs.12,200
Goods sold on cash Rs.4,300

Cash received from vinay Rs.3,800
Discount allowed Rs.200

Cash deposited into bank Rs.4,000
Interest on bank overdraft Rs.1,000
Cheque received from Rajesh Rs.3,900
Discount allowed Rs.100

Rajesh’s cheque deposited into bank.
Goods purchased on cash Rs.1,800



,, 30 Cash withdrawn from the bank for office use Rs.2,700

,, 30 Dividends collected Rs.1,200
Bs Q0D /YD DH0eE® Mr. HHS DYseee 0 HEODO HeseSd Dep
ST WoHok.

2017
dPoE 1 BB H5E30 B30.21,400

23,0506 &5 oy DQ)y 830.12,200
» 5 D080 DEOED ©9&0,5000 830.4,300
» 8 B0 83008 BE5E30 BT Be.3,800
OX0BOBODD E:D9,085 830.200
» 11 23,0806 BB0iIRID He5ESd B30.4,000
- 15 23,0888 &56 e  H 63.1,000
" 22 08 MOG HYDB WE,, 63°.3,900
R/YS 9,085 830.100
0oE8) TIE,, 27250808 BE VODHEDD.
. 26 D08 HEDB §506%e0 830.1,800
. 30 @30 @BV0O DRBO &0 K0& BB B &3e.2,700
’ 30 HDSDH BHBOE B3.1,200

Q12)Mr. Yaswanth Passbook showed a debit balance of Rs.700 as on 31
March, 2016. Because of the following reasons this balance has not agreed
with the Cash book balance. Prepare a Bank Reconciliation Statement and
ascertain the cash book balance as on that date.

a) Cheques were issued worth Rs.150 and Rs.350. The first cheque is not
presented for payment. The second cheque is presented for payment
but dishonoured.

b) Cheques paid in amounted to Rs.250 and Rs.300. The first cheque is
credited but the second cheque is dishonoured.

c) The bank has paid office rent on behalf of Yaswanth and entered in the
Passbook Rs.200.

d) Direct payment into the bank by a customer not yet adjusted in
Cashbook Rs.250.

¢) Bank Passbook shows Rs.110 as interest on overdraft and Rs.20 as
bank commission.

308 31, 2014 Do¢38 MI. 0HI 08 G308, D DRSO E32.7000:0 BeIe5 DL);°
WRYB0D. B0O 55T HOD B3 DOy B WVB0 DE° DodsEo B.
230,08 QOO DEODOD DHEID BOTRHTD @ BO wWe3d B0 DOBO DD
B06°H508.



a) epd BB VERD CR.150 SO0HO BR.350. RO B3 DL,
BYODHED ePen B, BoBDH WE), VHODE PO WOVDHD S0
Q55Ed JPODOD.

b) 232058 250d3RD BB B3.250 LOOOTL &30.300. B3 VL, &S
TODHDEDD. S0 BOBD DE, WTSEEd BODDD.

C) ODEHOS BEED 25008 8 DYODD WHHL OFP G7.200:80 MDYHBOS?
BRI TVOHBESO0D.

d) emeretid Stame 212,08¢P BOHTIODHDED K70.25080 B3 DB
DT2TE0 TWOHSED.

€) 656 @f D HE 0,110 SO0 &308) SLNS E3.2000 HeRDVS0S
B0 B3 B50EIBHD.

SECTION — C
Answer any three of the following questions. (3 X 14 =42)

Q13)What is pass book and write the causes for differences between passbook
and cash book balances.
DR VB0 @B B0 DE?,000 FNR DBO, BN DS Deee Brseersd
50 S50 5300D0E.

Q14)From the following Trail Balance and other particulars prepare Trading

and Profit and Loss Account for the year ended 31-12-2016 and a Balance
Sheet as on that date.

Particulars Dr (Rs.) Cr (Rs))
Capital 10,00,000
Drawings 1,000
Cash at bank 1,76,000
Motor Vehicle 1,48,000
Debtors and Creditors 2,96,000 2,32,000
Printing and Stationery 6,600
Purchases and Sales 24,00,000 31,60,000
Opening Stock 2,40,000
Provision for doubtful debts 5,000
Bad debts 11,400
Frechold Premises 8,00,000
Repairs to Premises 47,600
General Reserve 2,00,000
Salaries 20,000

Wages 2,29,000




Delivery Expenses 99,000

Administrative Expenses 1,31,400

Rates and Taxes 15,000

Bills Receivables 1,00,000

Bills Payable 1,24,000
47,21,000 47,21,000

Adjustments:

a) Stock in hand as on 31-12-2016 Rs.2,80,000
b) Depreciation on motor vehicle is Rs.74,000

c) Unpaid wages Rs.1,600

d) Rates paid in advance Rs.3,000
e) Provision for bad debts is to be reduced to Rs.3,500

808 ®0BLse 50O /BG DHTEIPTO BGIPSOTe SIS S0OOND eREIOERS ZIeesod
31-12-20168° @OBHOCT); VODBLCOS HOOTL ©F B3 &) - ©D, D30

3

HOTTETODOL.
STeen @965 (83.) 5&95 (85e.)
B07e0E550 10,00,000
DBOBTCESD 1,000
23 058 BeE5ESHd 1,76,000
RIPEIOED TOTDO 1,48,000
220057509220 BDOHO 2IEDTIAESE 2,96,000 2,32,000
303086 0000 PHHS 6,600
@&8%% SOOI ©&0,500 24,00,000 31,60,000
@adoap’@ ISlebich) 2,40,000
0OFOTTE,E Todeede Hovead 5,000
oeerden 11,400
835500 8,00,000
BB 055,80 47,600
GRS OB 2,00,000
Besoen 20,000
Besooen 2,29,000
TEBE PBen (Sareese PEL0) 99,000
DEs5Te0 L0 1,31,400
B oo DB 15,000
BTee0 Jeen 1,00,000
DDOY 2Ienen 1,24,000

47,21,000 47,21,000




é%)aﬁéag H
31-12-20168 WBS® HEHED 832.2,80,000

EveLlhlob) aﬁofﬁéoé S0 B39.74,000

BYONS SBoen &°.1,600

B0 BYODH By 83.3,000

OIS, S Codeede DT 83°.3,5000E BR0wWeD.

a)
b)
c)
d)
e)

Q15)Enter the following transactions in suitable subsidiary books.
2016 January 1 Purchased goods from Rekha Rs. 7,500

29

29

29

4 Sold goods to Midhun Rs. 8,000
6 Returned goods to Rekha Rs. 500
10 Sridevi bought goods from us Rs. 4,000
12 Goods retured by Midhun Rs. 400
15 Credit sales to Siva Rs. 7,000

18 Bought furniture from Rajesh Rs.20,000
25 Sold old machinery to Gopal Rs. 7,000
30 Bought goods from Rahul on cash Rs. 800
30 Venkat goods sold to us Rs. 2,500

808 HHTBCWHD DD DHBODE DVSOS? HRTED TIADOR.

2016 BIDO

1.

10.

12.

15.

18.

25.

30.

30.

S 5008 825 DBLE &30.7,500

QOEODED O, DTDEL BJe.8,000

3D DD WD DEED 830,500

B3 0D Bo0& 52 DBLE BF.4,000

OGS 5008 TPV HYD DB K39.400
BB D) W&, 83°.7,000

0oFR) 008 8205%0 T3RD HESE 632.20,000
E5RSE 810, g8 0DOEBSHN K32.7,000
005308 008 B3EDBD §9§ DB B32.800

BOBES BB QD DD &3.2,500



Q16) Srinivas sold goods for Rs.6,000 to Gopal and drew two bills for Rs.4,000 and
Rs.2,000 for 3 months and 4 months respectively. The first bill is discounted by
Srinivas at 10% per annum and the second bill is retained until the due date. On
due date the first bill was dishonoured and banker spent Rs.50 as noting charges.
Second bill was met on due date. Pass necessary journal entries in the books of
both parties.

EOTD B3.6,000 HEELOBD H950S @&, B0t Ve 283 E32.4,00005,
SoEHD 830.2,00008 HED(P 3 IOV HOOOTD 4 JVOB DDV, B3
DD GOTR 28 2P0BB B DOBBECDS 10% D BRP,085 TIEBD).
BOGD VB0 (5 BE HBLEO BT SOTIIEBH0. 562 BOD B0e5e3 ey
OTSSED WO 2RO S%B06 PR &72.50 BDYOBIO. 305D DeQ
5D BOHS SE60 VOB, [EIDO DSV OHOERD  DEPDEL0
83°0300800.

017)X & Y entered into a joint venture to construct a building for Rs.5,00,000.
Sharing Profit and loss equally. They opened a joint bank a/c each contributing
Rs.2,50,000.

The following expenses were paid by joint bank a/c.

1)  Raw material Rs. 2,00,000

i1)  Wages paid Rs.1,00,000

ii1) Engineer’s remuneration Rs.30,000

Further Mr. X supplied material worth of Rs.40,000 and Mr. Y rendered his
services worth of Rs.20,000.

The contract was completed and the contract price was received. Mr. X took
over the stock of material valued at Rs.10,000

Prepare necessary accounts.

X Sopon Y eo &0.5,00,00008) &8 gHreg) Q008 @i, 290080
DPBOPOTID. T RIHPOTD DHTDOTR  HOTDE0eID. €, 239,08
goEord BED 25%B) 0 632.2,50,000 P, €51, 250,08 greed® S50
230508D T T39500 WHODD YTRED.

i) &S0& Doecee §25065%0 8x.2,00,000

ii) @08 Seseoen 53.1,00,000

1) 202D VeOSSHB0 839.30,000

oSSomnRX DEPHPTe WD DE3DODHES ©30.40,000Y DHERYD GBS DD
eV B3R.20,00000070 BE;5L3080. DURE0 DPRTOVDD. Se0JE) O PO
HAPSDO. HNB0D DB YD E32.10,000 e B0D X EdoBHgRd.
OBVEROD groween SO WOHOG.



Q18)On 1-1-2012 X and Co. purchased a machine for Rs.20,000 and estimated its life
for 5 years. On 1-4-2013 another machine is purchased for Rs.30,000 and
estimated its life is also 5 years. On 31-12-2014 the first machine become
obsolute and sold for Rs.6,000. They close the books on 31% December every
year. Prepare machinery account for the year ended 31" December, 2015
assuming the depreciation was charged on fixed installment method.

1-1-20125 X @08 8% 28 oHomeg) &32.20,00008 525506550 3R wod 8D

SO0 5 DOIGDTP WOBT? BRWLD. 1-4-2013% 68 OHOBG &70.30,00008
E%06%0 [V @0 BDBsewo Epmwe 5 OO @OTIIR  BDDD.
31-12-2014& 300¢563 ODOEO DHOE ToH0LND 8532.6,00005 @O, 33050
8 DHoHBso &0V 315 gemeed  HNANT? ?’(\p)daawme) c{)c(g@ [SicLlele
BEEGOT DoeN WK, 31-12-20158° @OBHICT; DOBHBE0DE ODHOBO
IO HSOTTE WODOSG.
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Total No. of Questions : 20] [Total No. of Pages : 02
B.Com. (CA) DEGREE EXAMINATION, MAY - 2018
First Year

Computer Application (Comp. Fundamentals) Paper — I
Time : 3 Hours Maximum Marks :70

SECTION - A
Answer any three questions. (3 x15=45)

Q1) Explain the functions of hardware components commonly found inside the
system.
RHED S50 GeGE0T BAROTI BEBE 370 G0, HOZHKO HBOOTTOE.

02) Describe about word processing systems and presentation programs.
HE FFDR0E 1P HIOAT HBOBAS V&L (HOOD HHOOTIOE.

03) Explain various types of computer network.
DD CSéo“Do:)?é BOaRe80 5850“35&8)&) 5D0TI0b.

04) Define topology and how the three LAN topologies differ.
eBIEBED DB;DOTos Hovatny ey LAN e¥dsofen DDGome SSome

€08IP0D.

05) Explain machine language and assembly language high level languages.
B08S ep0T e S0 B0 eROTED (HOOD HHOOIOE.

06) Explain computer system security risks.
BogR:08 R0 2E7R0E3 riskess dBoood.

SECTION - B
Answer any five questions. (5 x4=20)

Q7) State the ethical and societal impacts of computer usage.
BBBOT SOOI DBFPRDSOTe BEOREE B8, DO DE2HHOk.

08) Describe solid — state storage devices.

Solid — state V53e8 HOBESHO (HOOD HHOOTIOE.

09) What are the characterstics of moniter & printer.
B020¢6 0001 20¢E A30E, ©FETen DD ?

Q10)What are the characterstics of communication channels.
éémﬁ&ésaﬁ GRDY A30E, oFEFeen ST



Q11)Explain the importance of network protocols.
BE5E, VeeF sy CR0E, BB HBOOTTOS.

Q12)List the major types of information systems used in today’s organizations.
Today’s 83808 (Hogen)ee’ *SHEINS 1PSO A3NG, HBOYPBID BS2HD

BOD0b.

Q13)Describe methods for accessing the internet.
RO DGO WA HEEBVT DHOOTOG.

SECTION - C

Answer any five questions. B x1=95)
DDT° L0 DFOLD DIREIOHBDO TPADHD.

Q14)What is processing?
DFDR0E @0 DO ?

Q15)Flash Drives
2535

Q16)RAM
350

Q17)Mouse use
B30 €dA3TTH0

Q18)Program
BP0

Q19)Web Page
ey e

Q20)Internet
SlelveiN]

+4 4+



(DBCO14)

Total No. of Questions : 18] [Total No. of Pages : 04
B.Com. DEGREE EXAMINATION, MAY -2018
First Year
QUANTITATIVE TECHNIQUES -1
Time : 3 Hours Maximum Marks :70
SECTION - A

Answer any four of the following questions. (4 X3 =12)

Q1) Explain the characteristic features of Statistics.
(563008 BOHO ATNE, OFEFOOD BLDOLS.

02) Questionnaire Vs Schedule.

DTS5V Vs 35725.

03) Give three important limitations of Harmonic Mean.
SIPBE0E358308300 GT0E, DB 50T0LE0 HORBOIOI TTPATIHD.

04) Define standard Deviation and its Co-efficient.
Do509685 DTSOBO S0OOTD t3eQ {NEFBHND DT EIOIDED.

05) Discuss the demerits of Rank Correlation.
8863 D5Te HOROLS 680 B0, SRRV TSQOTD.

06) Define Regression Co-efficient.
é@(iéoé 08080 DB5E0)D.

07) Types of Matrices.
BRBEOHD S50,

08) Probable error.

DogrRHme S9NO.



SECTION - B
Answer any two of the following. 2 x8=16)

09) Find A M for the data given below:
Class Intervals 4-6 799 10-12  13-15 16-18  19-21 22-24
Freequency 1 3 7 15 11 3 2
EDE BBIOBNVRED BOB0EEVHDN B&DGPR0830.

BEHSB YOS50 4-6 7-9 10-12  13-15 16-18  19-21 22-24

ELRVRS) i) 1 3 7 15 11 3 2
Q10)Calculate the mode for the following data.
X : 0-10 10-20 20-30 30-40 40-50  50-60 60-70
f 4 13 21 44 33 22 7
DS E5T30FE0H0E) 23T VEFBHND B8E,0¢506.
X 0-10 10-20 20-30 30-40 40-50  50-60 60-70
f: 4 13 21 44 33 22 7

Q11)Two sections of 50 students each scored as following in House
Examination. Discuss their variability through co-efficient of variation.
Which section gave better performance?

Marks % age 40-50 50-60 60-70  70-80  80-90  90-100
Section — A (No) 6 9 16 12 5 2
Section — B (No) 1 3 8 32 4 2

50 8008 DTRERD E© SO BEI5EOO HTWIEIO SISt BTE0, B0 PTTSED
BOOOTD DD (DBBO B0V, D BEHB O 23 BBBH JOOTE?

B0D0s.

B3E3en (sesod®)  40-50 50-60  60-70 70-80  80-90 90-100
B5658 — A (30.) 6 9 16 12 5 2
85658 — B (30.) 1 3 8 32 4 2

Q12)Discuss the important causes of distrust and how Statistics could be made
more reliable?
(365008 BOPOD (TO BDBHLEOHBED (PR BN ST TIQOD), (5e5208

AP0 DO TVDE BRHOS? EPEPODOTIHTR).

SECTION - C
Answer any three of the following questions. (3 x 14 =42)

Q13)What are the advantages and dis-advantages of Graphic representation of
data?  Smood Bgre DBSDHLBW CIE, HAZTPERTELD HIDOLD SaRen D?



Q14) Define the following with examples:
1) Union of Sets i1)  Intersection of Sets

ii1) Difference of Two Sets iv)  Power Sets
0 323 ©resTPBLIOBY DB, D003

1) DB Da0,EH0 ) e Y

1il) Bok DB B Brzeen  1V) 5008 DB

Q15)Ten competitors in a beaury contest are ranked by 3 Judges in the
following order.

Judge A : 1 6 5 10 3 2 4 9 7 8
Judge B : 3 5 8 4 7 10 2 1 6 9
Judge C: 6 4 9 8 1 2 3 10 5 7

Use Rank correlation co-efficient to determine which fair of Judges has the
nearest approach.

10 ED0E FePY 28 ®owee VFES 3 ac;ae)a RYS 0B DN DSOT? SH.

ac;f% ‘A 1 6 5 10 3 2 4 9 7 8
ac;f% ‘B’ 3 5 8 4 7 10 2 1 6 9
ac;f% ‘C: 6 4 9 8 1 2 3 10 5 7

8568 500006 KBB0ED GBDABRA0Y D REIDHO BGO B0 08 BEI0S
(DBERHE) ©9IP0HO é‘a@@‘c‘ DTpOOTOE.

Q16)Calculate Karl Pearson’s co-efficients of correlation between expenditure
on advertisement and sales from the data given below:
Advertisement
Expenses (1000) Rs. 39 78 65 62 9% 82 75 25 98 36
Sales (Lakhs) Rs. 47 84 53 58 86 62 68 60 91 51
DHS DYS SWOITHENDED (15D HDBLNSO HIS ;00 FOOOKN F0,Te T,

50 Se5HADY® KTe DODOES DEBBOXD B88,0508.

BB ;000

(832.1000) 39 78 65 62 90 82 75 25 98 36
€9530,500

(Eoe.08068) 47 84 53 58 86 62 68 60 91 51



Q17)In a school, there are 20 teachers either teach English or Maths. Out of
these 12 teachers teach English only and five teachers teach both English

and Maths. Find how many teachers teach only Maths.
28 oSG0 20 B0 GBRGIATND B, th BTt Rodspy (80K0)

500, (5BB0 (D eFPOTITD. OSE 12 5008 ROAKP eFHOWeED, D
G380 Hooam ROJKP Botrse PPOTd BOLD. @OND DO
€3NI, 0000 5385350050 5OV ?

Q18)Find the inverse of A=

— N W
—_— = NI
[\S ) S

B7eBs0 505300850 BZ0E?5085.

3 21
A=l2 1 6/.
1 1 2

S+ 4+



